12

A=A I-

Ic-ISFIST

HREES

7120000

rre




BRFBOFABAEIZOVWT

- 5%
TORMBIIAK, TV VD EBTHERINTE T,

WE
TR I ARKRS . B S &AL T Ed,

HEHAT
RERMBICGEH I N TR FIE, THLOEEALSBORGKEARL T X,
ZZIIREN-HEE AL L TR NBREICASTED ET0T, HVBEOEEK
WCTTHEXTE 5L BEVLHRLET,

RETH
EHETRRICAEE SN T B, Sm iy O N 2 T (kM) T7. @idl
B d L<idley P TORETETY,

o
B THIZBEENTOABAEIT vy 7)) —FSE T, 7. L DOPESNPLET
HIITRHELBEDONN I T AR ST HE T,



PARTS LIST FOR THE YANASE SNOW-THROWER
TIPS FOR USING THIS PARTS LIST

1. STRUCTURE
This Parts List has two sections: Body Parts and Engine Parts.

2. NOTES
General standards, name, etc. are described in this column.

3. ORDER-UNIT
The number listed here indicates the number of individual parts prepackaged together.
Because of the prepackaging, parts must be ordered in multiples of this number. For
example, if the number indicatedis 5, but you want to order 7 units, then you are
requested to order 2 sets of 5 parts or 10 parts.

4. STANDARD PROCESSING TIME y
This number indicates the amount of time required for parts to be replaced.

5. ENGINE
If the figure is surrounded by a frame, assembly is required. Only parts given an index
number can be individually ordered. Other parts may be ordered only as parts of sets
and kits. Therefore, parts marked with: :



12-35HST

2000
Parts List




Z: X
Body Parts

712000

Top
I‘/¢/“‘/.§¢/“I_9§B .................................... 2~13
Engine & Radiator
:;2}\;*5[.9‘/7.1771)_7—:&5 .............................. 4~5
Fuel Tank & Air Cleaner
ay I‘D—)LEB (1) .......................................... 6~9
Levers & Links (1)
- bEl—)b‘&B (2) ....................................... 10~13
Levers & Links (2) '
ZT__jﬁjE‘y 3,3 ;,EB (j;. ﬁﬁﬂb) ..................... 14~17
Auger Mission
F—H A =Hr -8 (F - B oo 18~21
Auger & Augercase
7“|:|r7 . 7“[:]!77——‘/3/3*/135 ........................... 22~.25
Blower & Blower Tensioner
:/ 9 — |\ 1&5 ................................................... 26~29
Chute
BN FEIEER (1T « SHIE)  coevvereeremrreremnmmnnennnnns 30~33
Transmission
‘;ﬂiH—:gB ......................................................... 34~37
Hydraulic System
7’7/(—‘5‘5 Seeeesessetereestttarceacecarcetatcentertnasatescnsens 38~39
Covers
iEf}gB ......................................................... 40~41
Frame-driving
EE%%EB ......................................................... 42~45
Electrical Equipment
e u w + EB ................................................... 46~47
Stickers
gggigaﬁiﬂl ......................................................... 48

Wiring Diagram

2000. 1



712 I>22 -5 I—4288

v*t 12-35HST 2000 1




I 50T —28 712
RiliNo.| B & & 5 B OB % W i L3 MR |[Rikufy | e T
1 | S071—2100 ALY TL—A 1
2 | S071—2310 x VY (3LD1PA—26) 35PS 1
3 | S071—2411 IVVVTIry b (&) 1
4 | S071—2620 IYyVryITIry b (H) 1
5 | S902—4053 ISR b M10X25(8T) 15 5
6 | S902—4054 NESALL b M10X30(8T) 1 5
7 | S926—1208 IN RS M10 16 5
8 | S902—4074 INEFNBAN b M12X35(8T) 6
9 | S926—1209 INF S Mi2 6 5
10 | S071—2450 25 vs7—Y (123B—1) 1 0.7
11 | S907—1118 GYLVASCC R VI M8X 25 4
12 | S927—2106 M~ 5 A4 2L—8 4
13 | S071—2490 ISV TIUY 1
14 | S902—4034 INEAALRL b M8X25(8T) 8 5
15 | S926—1206 IS IS M3 8 5
16 | S071—2440 oy r-y 1 0.7
17 | S902—4072 INESS AL B M12X25(8T) 3
18 | S926—1209 IN S M12 3 5
19 | WEMRSHE HAr b+ (EXH/34 7) 4 2 Z%8970420280] 1
20 | S071—2430 EXV=h—A K7 XS & 1 0.8
21 | S069—2910 v =k — L F7 &7 % Bt 1
22 | S902—2033 INESH AL b M8X 20 6 5
23 | S916—5205 INEASHEF o b M8 10 5
24 | S926—1206 IS S M8 10 5
25 | HEEMEmR 773 4 A X H%&897107-7140 1 0.5
26 | S069—2770—3 | v 7IF/84 STV F 1
27 | S914—6220 SRy P IR SN )| M4X10 2
28 | HiE Rz 27T HIN— 4 2 XEH894402-1650 | 1 0.3
29 | S901—2015 NAESEL b M6X12 6 5
30 | S926—1204 N IS M6 6 5
31 | S929—4204 ErEE (K1F) M6 6 5
32 | EMEH HA¥ v b (EXH=75) 4 2 XR%&9141450760 2
33 | S069—2920 ?T T AN—H 1
34 | S916—5256 NERATF v b M10(P1.25) 3
35 | S926—1208 IS IS M10 3 5
36 | mEBER FUL—R 4 2 X %8971264613 | 1 1.2
37 | HERMEH Fox—-82%Kk—-2Z (F) 4 A X5 %8971313160 | 1 0.5
38 | HEMEH svx—-4%—2 (L) 4 2 X5 &I71313150 | 1 0.4
39 | WEM=H F=ANVE (Y T-4F—-2) 42mm | 1 2 X5%F099150421 | 2
40 | HEMH F=ANYF (FVL~4Fk—2) 38mm | 1 A XHE5097040313| 2
41 | SO7T1—2710—2 | 7Px—8F vy 1 0.1
42 | S071—2700 FUXL—AT Ty b 1
43 | S902—4032 INESSFRL B M8X16(8T) 4 5
44 | S926—1206 INF S M8 4 5
45 | S901—2019 NHEEL b M6X30 2 5
46 | S926—1204 IN TR M6 2 5
47 | HEWMEE VR 4 A 2 X HHFSI7127-5911 | 1 0.1
48 | WHEMzH YDA TIHh g b 1 A XHHSIT1275921 | 1
49 | HERzM FANLT 4 NA 4 A XRE8456T411| 1 0.4
50 | S071—2310—17| 7 7 ¥ ~NJL b 1 1.0
2000. 1



712 B¥tx2>7 - IT77)—F5%

;{“’:ﬂ‘ 12-35HST 2000 1




Ml I T7)—FE 712

HilNo.| ® & & 5 wOOR & 4 2 E¥ | RILH | e T
1 | S071—2820 Ay T3y b (k) 1 0.7
2 | S071—2810 2573y b (H) 1 0.5
3 | S902—4033 INEFSAEARIL b M8 X 20(8T) 4 5
4 | S926—1206 IN TS M8 4 5
5 | S929—2205 S M8 2 5
6 | S071—2840 BR¥E 2 o MG No.7~15& % 1 1.5
7 | S071—2840A | MM & o Kk 1
8 | S071—2840—1 | BEx v o F vy T 1
9 | S071—2840—2| # v o F v v L TLINyF 1

10 | S071—2840—3 | # v A bV —F 1
11 | S071—2840—6 | ¥—v =y } 1
12 | S071—2840—7 | ¥'— P 2=y bV F Y 1
13 | S071—2840—8 | 2= MEU+H ¥ (SW, W) 5
14 | S071—2840—4 | FL V755 1
15 | S071—2840—5 | $H/8w F v 1
16 | S071—2230 ST A A 2 0.2
17 | S071—2360 TSy F Y (BU OISV F) 2
18 | S916—5205 NESAT b M8 4
19 | HERMSHE e 7 44 4 A A HLI71041891 | 1 0.3
20 | WEMZE Ty (BRBT 4 8) 1 2 X 8970713480 | 1 0.1
21 | HEMzH OV ys (B¥t7 41 %) 4 A 2R %&8941551830 | 1
22 | S902—2043 NES BRI b M8X70 1
23 | S926—1206 NS M8 1 5
24 | S929—2205 SERES M8 1 5
25 | HERMEHR KR 7 1 2 A 5842411792 | 1 0.3
26 | S071—2280—1 | BEE—R (B Vo —=T7 4L %) %8 1
27 | S071—2280—2 | BMBR— R (7 4 LA —~BBA Y 7) | NIE8 1
28 | S071—2280—3 | BR¥k— 2 (BREK Y F—=x vV V) | NIES 1
29 | S071—2280—5 | MMk — R (T4 L& —~5 2V 27) M1E4 1
30 | S071—2280—4 | KK -2 (2 VYV F—U=5V7) | HiE4 1
31 | S836—2012 E G 8—16 6
32 | S836—1008 N S 8 4
33 | S071—2390 BEEY T TIr 9 b 1 0.3
34 | S902—4033 INESFA N b M8X20(8T) 2 5
35 | S926—1206 IN TS M8 2 5
36 | S916—5205 INESAEF b M8 2 5
37 | HEMSHE 7Y —F MR 4 A X5 %8941521120 | 1 0.2
38 | MEMSHR TFHY—FTL AV} 4 2 X EES5142150140 | 1 0.1
39 | HEMSR Dyvay (ZT72)—F) 4 A XEE8970489720| 1
40 | HEMzHE IF7 oY —FIsvF 4 2 X5 %&89704897111 1
41 | S902—2033 INEFSFFRIL b M8X20 4 5
42 | S926—1206 IN S M8 4 5
43 | S071—2980 L7 oY —Fk—2R 1 2
44 | S836—2050 F— 2N F 40—60 2
45 | S071—8450 TLR (B2 o) 1
46 | S071—8460 T LR A 1
47 | S908—1214 +g R ) AhE Y M4X12 3 5
48 | S926—1202 IN 3PS M4 3 5
2000. 1



712 3> bO—-E (1)

FET=Ewvay

1’,‘t 12-35HST

2000 1



O b@a—-JEs (1) 712
RiNo.| W & & 5 W& £ I = B | RN | EUET X
1 | S071—3010 B~y b () 1 2.0
2 | S071—3020 BfER~o v+ () 1 2.0
3 | S053—3840 INESRFIERL b 3
4 | S916—5206 INERFET o b M10 3 5
5 | S926—1208 IS H S M10 3 5
6 | S902—4053 INESAFRIL b M10X25(8T) 4 5
7 | S916—5206 INERAF Y b M10 4 5
8 | S926—1208 IN TS M10 4 5
9 | S069—3310 Ls—FKR A+ (EH) 1 0.5
10 | S828—1260 Tyva Ny Xa)) 12X14X12 2
11 | S069—3320 LIS—EK A+ (FE) 1 0.5
12 | S828—1206 Tova Sy AE0L) 12X 14X 20 1
13 | S929—2207 SERES: M1i2 2 5
14 | S930—0228 v 3.2X20 2 5
15 | S069—3290 L N — 1
16 | S069—3210 T 7 v FLIS— 1
17 | S927—3108 M/ s+ L—10 2
18 | S929—2206 ErES M10 2 5
19 | S916—5206 INENAET o b M10 2 5
20 | S916—6206 NESAF o b (3FE) M10 2 5
21 | S082—3490B #Bo (8) 12 1
22 | S081—3930R #o (R 12 1
23 | S061—3330 FEHET —LH (9 aV) 1 0.8
24 | S910—3120 NARGTIERY (FHY %) M8X 16 1
25 | S901—4019 NAEEL b M6X30(8T) 1 5
26 | S926—1204 AN Mé 1 5
27 | S916—2204 ANAT v b M6 1 5
28 | S071—3460 M BT Sy b 1 1.2
29 | S902—4572 INESAAN b M12(P1.5) X 25(8T) 2
30 | S926—1209 INF R M12 2 5
31 | S061—3340 7 — A 1 0.6
32 | S828—1297 Tyda Sy o A8N) 30X34X12 1
33 | §929—2204 SRS Mé6 1 5
34 | S938—1367 E=AXT7Y v 62627 1
35 | S901—4017 NAFL b M6X20(8T) 1 5
36 | S926—1204 INTHEE M6 1 5
37 | S916—2204 Ny b M6 1 5
38 | S061—3350 Hp 7 SR 1
39 | S902—4035 INESS A AL b MB8X30(8T) 1 5
40 | S926—1206 IN S M8 2 5
41 | S705—3225 2TV 1
42 | S061—3361 BIEET—4H (Iy¥av) 1 0.5
43 | S931—1117 2Ty Y 3X25 2
44 | S931—1132 XTI 5X25 2
45 | S071—3380 EHEOy F 2
46 | S835—2555 oy Ny F (LAY M8X1.25 1
47 | S835—1555 Oy FLYF (TABEARD) 8—M8X1.25 1
48 | S916—5205 INERET o b Ms8 6 5
49 | S040—1660 B—VINy o 2
50 | S071—3390 7y F (FE®R) 1
2000. 1



712 22> r@—IuE (1)

29 F#T=wvvay 84

———W—“‘v,_t 12-35HST 2000 1




a2 bO—JuE (1) 712
RiliNo.| # % & 5 OB & & f4 B R | R | Ele T

51 | S071—3410 oy F(BIZE#) 1 0.2
52 | S916—5205L NESRAT b (ERY) M8L 2

53 | S929—2205 SERES M8 2 5

54 | S016—9510 W4 1

55 | S930—0219 = 2.5X20 2 10

56 | S902—2034 INESNAEEL b M8 X 25 1 5

57 | S061—3431 LN ¥o .y F 1

58 | S835—2554 oy Fxy F (LAY M6X1 2

59 | S916—2204 ATy b M6 4 5

60 | S926—1204 IN TS M6 2 5

61 | S061—3442 VN—-HET - A 1 0.3
62 | S061—3441B PEFB IR 2

63 | S061—3650 AR AZE I e BV 1

64 | S005—4540 YT EE 2

65 | S806—3205 F4uavFy b M12 1

66 | S061—3230 HAF2 Ty F L — 1 0.7
67 | S061—3240 A K25 9F7—5 (H) 1

68 | S061—3250 Y4 E2F9FT—5b () 1

69 | S071—3220 YA FHFyFLIN— 2

70 | S902—2033 INEAAEL b M8X 20 4 5

71 | S916—5205 INEASFF v b M8 4 5

72 | S926—1206 IN TS M8 4 5

73 | S929—2209 SERESE M16 2 5

74 | S930—0241 v 4X32 2 10

75 | S061—3040 YA RISy FATF — 1

76 | S901—4017 ANEAIL b M6X 20(8T) 2 5

77 | S926—1204 IS F S M6 2 5

78 | S072—3790 By (W4 F23595) 12—34 2su 2

79 | S061—3280 ZLE R 2

80 | S824—1209 SR Y v 6X20 2

81 | S930—0208 vy 2X16 4 10

82 | S065—1540 oy F (M8X130) 2

83 | S916—5205 INESAT 9 b M8 2 5

84 | S705—5255 AFY v 2

85 | S929—2204 L M6 2 5

86 | S061—3880 HE 7L —%7— A 1 0.1
87 | S930—0243 gy 4X 40 1 10

88 | S071—3860 EYHi 7L — % Loy — T 1 0.7
89 | S255—2230 LR 1

90 | S071—3870 BEHIL —-FHgay F 1 0.1
91 | S824—1209 YA E v 6X20 1

92 | S929—2204 SERES M6 1 5

93 | S930—0208 v 2X16 2 10

94 | S929—2207 SRS M12 2 5

95 | S930—0239 Hy 4X25 2 10

96 | S061—3071 EBFH 7L —F LV — 1 0.1
97 | S931—1124 2FY Y 4X25 1

98 | S082—3530 #o (P) 12—45 Pru 1

2000. 1



712 3> bO—JLE (2)

v*t 12-35HST

10

2000 1



a2 hO—gs (2) 712
RBiNo.| # & & = ®Oom & K 1 L A% |ROHG | R T8
1 | S071—4110 8 1 2.0
2 | S071—4120 BER/ ST 1 0.3
3 | S065—4130 Oyvavdh 4
4 | S913—3608 73V IRSNARLE (B) 2—M6X16(7T) 6 5
5 | S069—4710 AWy PLLIN— 1 0.4
6 | S069—3780 B (Ray ) 8—35 su 1
7 | S927—3108 /33 L—-10 1
8 | S929—2206 SRS M10 1 5
9 | S916—5206 INESNET b M10 1 5
10 | S916—6206 INESATF 9 b (3 M10 1 5
11 | S071—4740 AWy FJLLIS—Ty K 1 0.4
12 | S069—4750 Z2ay bray K (Y /) 1 0.1
13 | S916—5205 INESAEF v b M8 1 5
14 | S929—2205 SRS M8 2 5
15 | S930—0217 4y 2.5X16 2 10
16 | S071—4760 ayvitu—nri—£¢H 1 0.1
17 | S901—4016 AR b M6X 16(8T) 1 5
18 | S916—2204 Ty b M6 1 5
19 | S926—1204 IN TS M6 1 5
20 | S050—5540 Tya 1
21 | S936—1017 #WRICK IE 4 & S—17 1
22 | S061—3480 T —H2 5y FLIN— 1 0.4
23 | S828—2192 75V Tyva 12X14(20X 1) X21 1
24 | S929—2207 SRS M12 2 5
25 | S930—0228 E- |12 3.2X20 4 10
26 | S053—3330L FARLY 2T — b (FE) 1 0.4
27 | S828—2112 T35V T yva 12X14(20X1) X 16 1
28 | S053—3340 VIV A7 AV X 1
29 | S929—2205 RS M8 2 5
30 | S930—0217 v 2.5X16 1 10
31 | S082—3490 Bo (-4 G 12—50 RT7# 1
32 | S071—4640 *—HrI39FI4% 1 0.3
33 | S824—1295 R & v 8X18 1
34 | SO71—9890R 779+ (H) 1 0.1
35 | S071—9890L 7709 b (%) 1 0.1
36 | S902—4033 INESNEL b M8 X 20(8T) 4 5
37 | S916—5205 N 2% AT M8 4 5
38 | S926—1206 IN RS M8 4 5
39 | S069—9581 ¥ —TF 48N 1 0.1
40 | S902—4038 INESAEA L b M8 X 45(8T) 2 5
41 | S916—5205 INESAET o b M8 2 5
42 | S929—2205 SERES M8 2 5
43 | S069—9801 Fyvauay K 1 0.5
44 | S901—4019 NALRL b M6X30(8T) 1 5
45 | S916—2204 ATy b M6 2 5
46 | S929—2207 R4 M12 1 5
47 | S706—1234 2Ty vy 1
48 | S069—9790 DY 1
49 | S901—2003 ANHEAEL b M5X12 2 5
50 | S926—1203 INF S M5 2 5
2000. 1

11



712 3> bhO—JLE (2)

'P’-t | 12-35HST

12

2000 1



O bER—ILEE (2) 712
HiiNo.| B 5 & & ® % % 14 L A | SR | R T

51 | S067—9911 k=TT 42T 9FINIAZ () 1 0.4

52 | S067—9901 =TT 42T 9wFINFNE (H) 1 0.4

53 | S902—2056 MNES AL b M10X 40 1 5

54 | S803—0241 NAEREH FHEL b M10X35 1 5

56 | S927—4108 M s * H—10 2

56 | S916—5206 INERETF b M10 4 5

57 | S069—4830 Y —TF AT T yFINAANT — A 1 0.8
58 | S071-3060 Y =TT 4 DT 9FT — 4 1 0.2
59 | S902—2034 N 7y By M8X 25 2 5

60 | S916—5205 NESAT o b M8 2 5

61 | S926—1206 INT S M8 2 5

62 | S067—4820 X =TT 4T 9FIRN 1 0.2
63 | S065—4840 NS AL b 2

64 | S050—4831 AFGAL Ty (=T F42F9F) 2

65 | S929—2206 SRS M10 2 5

66 | S806—3204 FA40aYFy b M10 2

67 | S930—0228 ay 3.2X20 2 10

2000. 1

13



712 #—7A3Iv>a> (-8

W_E 12-35HST

14

2000 1



A—-HIvyar (£-#BhH 712
HHiNo.| B @ & 5 B & & B ] = % | Rk | EET
1 | S071—6510 Iy g vir—2 1 25
2 | S071—6590 * — A il 1
3 | S941—1129 Eird— (Md) 10X 8X55 1
4 | S941—1125 Y47 ¥ — (tL) 10X8X35 2
5 | S071—6660 F — ¥y 1
6 | S071—5370 2 R — 435X 27 1
7 | S938—1127 RF=ARTY VY 6207 2
8 | S936—1035 HRCK 1L A & S—35 2
9 | S811—2128 ALY — N TC35508 2
10 | S071—6650 Yot v £y 1
11 | S941—1140 AT — (MdL) 8X7X35 1
12 | S071—6540 RN E Y 1
13 | S938—1125 R=ARTY V& 6205 2
14 | S071—6530 Ny ¥y (r— 2AHE) 2
15 | S071—6520 ir— A& 2
16 | S902—4034 INESFIRL b M8X25(8T) 16 5
17 | S926—1206 NS M8 16 5
18 | S071—6560 Wffr=%2F¥ 1
19 | S941—1140 i — (M) 8X7X35 1
20 | S936—2062 FEACKILE * k& R—62 1
21 | S938—1107 E=AXFTY VI 6007 2
22 | S936—1035 HHCHK L # & S—35 1
23 | S811—2128 AA LY — TC35508 1
24 | S071—6580 Ny F v (r—2x%) 1
25 | S071—6550 5= 1
26 | S902—4034 NS b M8 X 25(8T) 4 5
27 | S926—1206 I8 TS M8 4 5
28 | S071—6570 VA=A E 1
29 | S902—4033 INESNAERL b M8X20(8T) 2 5
30 | S902—2055 INESHERL b M10X35 2 5
31 | S916—5206 INESAET o b M10 2 5
32 | S926—1208 IN IS M10 2 5
33 | S952—1203 MAsEN 77 o PT3/8 1
34 | S902—2031 INESAEL b M8X12 1
35 | S812—1008 2y Py BRI WF8 1
36 | S902—2032 INES AR b M8X 16 1 5
37 | S016—9720 4 1
38 | S702—2309 XY (HXHHE) 3.5m, 14Z 1
39 | S828—1263 Tyia Ny AHN) 28X 32X 12 1
40 | S938—1125 R—=ARTY VT 6205 1
41 | S938—1725 N I ) B 6205LLU 1
42 | S936—2052 FHCKIE * % R—52 1
43 | S811—2122 AANY = TC28458 1
44 | S071—6820 HEHDA — 4 B 1
45 | S941—1186 A7 - (FdL) 5X5X45 1
46 | S071—6810 B A — 7 B Eh 1
47 | S071—6610 NoFxy (r—2+H) 1
48 | S902—4034 INEASFAE L b M8X 25(8T) 8 5
49 | S926—1206 INF S Ms8 8 5
50 | S071—4050 T —LEY Ry 1 25
2000. 1

15



712 #—-#H3Iv3> (X-#Bh

'h*t 12-35HST 2000 1

16



A—-HIviar (-8 712
RitNo.| & &% & 5 B O & 1% = B | RAEN | EE TR
51 | S811—2151 ALY — N TC25528 1
52 | S936—2052 FRHACKE I # G R—52 1
53 | S938—1125 N PN ) B 6205 2
54 | S929—1213 EEEE (VMNER) M24 2
55 | S069—6830 Y % — L 1
56 | S811—2119 AN -0 TC25387 2
57 | S938—1125 R—ARFY VT 6205 2
58 | S929—1213 YRS (B M24 2
59 | S069—6840 A . 1
60 | S071—6860 FHBYA — 77 1
61 | S941—1195 FirE— (M) TXTX24 3
62 | S059—4060 T x—Abky s AR 1
63 | S002—4071 ADE 7 1
64 | S902—2034 INES AL b M8X 25 3 5
65 | S926—1206 INZ S M8 3 5
66 | S952—1203 [WEEEIETD a2 PT3/8 1
67 | S902—2031 INESAEEL b M8X12 2 5
68 | S812—1008 2 Py BRI WF8 2
69 | S071—6790 AANY =N AT — 1
70 | S910—4110 NATUHE X XY M6X12(% & 3 5) 2
2000. 1

17



12 F*—=7 «F—Hr—X8& (X - #Bh)

.‘,’.t | 12-35HST

18

2000 1



F—H e F—HHSr—XEB (F - #BH 712
HiiNo.| B & BT 5 B & &% ] L S | BRI | BT
1 | S071—5310 *—Hr—2Z 1
2 | S071—6020 r — 2 [B) 55§l 1
3 | S071—6040 r— ARy 7 v 7 4 0.4
4 | S071—6070 AT 7 4
5 | S902—4054 NS IR b M10X30(8T) 8 5
6 | S926—1208 IS IS M10 8 5
7 | S953—1202 TYR= TR A—PT1/8 1
8 | S953—2202 SYA= 9T I B—PT1/8 2
9 | S071—5470 T HIN— 1 0.1
10 | S902—4052 INEARAFRIL b M10X20(8T) 1 5
11 | S916—5206 INESRAT Y b M10 1 5
12 | S926—1208 AP M10 1 5
13 | S803—0227 ANARGYFEL b M8X20 2
14 | S916—5205 INERAT o b M8 2 5
15 | S926—1206 IN GBS M8 2 5
16 | S929—2205 SRS M8 2 5
17 | S071—5360 VA ZR 1 0.2
18 | S906—1425 AMATAA L b A1—M8X30(8T) 10
19 | S916—5205 AN 7ay:: aD M8 10 5
20 | S926—1206 INF S M8 10 5
21 | S016—9510 W4 10
22 | S050—5321 VA 2 0.1
23 | S050—5340 BEEARL b 2
24 | S916—5256 INENETF b M10(P1.25) 4
25 | S926—1208 ISF S M10 4 5
26 | S040—2670 AZEH 2
27 | S908—1213 +FIfHF R ) hFY M4 X 10 2 5
28 | S916—2202 NAF v b M4 2 5
29 | S926—1202 INF S M4 2 5
30 | S067—9110 FRER 1
31 | S067—9390 krEEMEBEH 1
32 | S901—4021 NAFL b M6X40(87T) 1
33 | S916—2204 ST b M6 1 5
34 | S926—1204 INT S M6 1 5
35 | S071—5650 F—HIviag v 1 0.2
36 | S902—4054 /NESRAEAN b M10X30(8T) 2 5
37 | S916—5206 INEFSAT o b M10 2 5
38 | S926—1208 INFEESE M10 2 5
39 | S929—2206 SRS M10 6 5
40 | S071—5660 TFL—b (A—=H3Ivyvars) 1 0.2
41 | S902—4553 INEFS AR b M10(P1.25) X 25(8T) 2
42 | S902—4554 INEAFEEL b M10(P1.25) X 30(8T) 2
43 | S806—7254 NESAUT v b M10(P1.25) 4
44 | S071—5710 WA —-H Iy avZgH 1 0.2
45 | S902—4033 INER AR b M8X20(8T) 2 5
46 | S916—5205 AN 772y Al M8 2 5
47 | S926—1206 A S M8 2 5
48 | S071—5720 HEA - HI v avR 1 0.2
49 | S902—4034 NEASAFRIL B M8X25(8T) 2 5
50 | S929—2205 S M8 4 5
2000. 1

19



712 =% - F—H45—XZ (X - #Bh)

1’,‘t 12-35HST 2000 1

20



F—H - A—H5r—XE (£ - #Bh) 712
RiiNo.| ® & & 2 ®mO% & K 14 L2 E% | RIEHG | ST

51 | S806—7203 WNESAUF » b M8 2

52 | S071—5350 A=K — ZfR (A —H) 2 0.3
53 | S902—4053 NESRARL b M10X 25(8T) 8 5

54 | S916—5206 INEASAT Y b M10 8 5

55 | S926—1208 IN TS M10 8 5

56 | S071—5630L r— 2R (#BBhA — #) (F) 1 0.4
57 | S071—5630R r— Atk (#EBhA — ) (hH) 1 0.4
58 | S071—5410L $4 F2—3 (k) 1 0.1
59 | S071—5410R +4 F2—h (H) 1 0.1
60 | S028—0550 LY FFL—} 2

61 | S906—1440 AMRAEE AL b A1—M10X35(8T) 6

62 | S916—5206 NESNAT Y b M10 6 5

63 | S926—1208 INT RS M10 6 5

64 | S071—6600 d—H AN 2

65 | S938—1726 R A ) IV 6206LLU 2

66 | S936—2062 JCHCEIE A 8 R—62 2

67 | S071—6630 BgHEY—2Y 97 (30H) 2

68 | S902—4053 INESAFIL b M10X25(87) 6 5

69 | S926—1208 IN RS M10 6 5

70 | S005—2560 7 — 2 2

71 | S938—1725 R=ARTY VY 6205LLU 2

72 | S005—3510 ]2 2

73 | S016—0100 WHEY—-2Y 97 (25H) 2

74 | S906—1222 FBATEA L b A1—M8X16 4

75 | S916—5205 INESFET Y b M8 4 5

76 | S926—1206 IN S M8 4 5

77 | S071—6420L F =3 (k) 1 0.8
78 | S071—6420R *—# () 1 0.8
79 | S828—1194 Tyva 35X 39X 40 4

80 | S071—5120 * — R 2

81 | S902—4032 INESHEF L B M8X16(8T) 4 5

82 | S709—2112 vy —FkNb M10X30 2

83 | S916—1206 NAF v b M10 2

84 | S926—1208 INF S M10 2

85 | S071—6850L et — 5 (k) 1 0.8
86 | SO71—6850R A -4 () 1 0.8
87 | S828—1119 Tyva 25X 28X 25 4

88 | S009—2082 * — # KR 2

89 | S902—4032 INES AR b M8X16(8T) 4 5

90 | S709—2101 vy —FNb M8X 25 2

91 | S916—1205 NAF b M8 2

92 | S926—1206 INTEES M8 2

93 | S902—4073 INEFSAE AL b M12X30(8T) 8

94 | S926—1209 INT S Mi2 8 5

2000. 1

21



712 A7 - JAO75>3 3




Ao -JAavFria @ 712

R¥No.| & & & 5 wOm & K f4 L2 A% | RN | R T8
1 | S071—5150 A=/ 1 1.5
2 | S902—4052 INEFSEE L b M10X20(8T) 1 5
3 | S926—1208 IN S M10 1 5
4 | S071—5100 7 v 7 BRE R T 5 3.5
5 | S071—5190 AENF x T 1
6 | S071—5200 Noudky (AN F v 9T 1
7 | S811—2127 AANY —N TC30488 1
8 | S938—1727 R=ARTY v Z 6207LLU 2
9 | S902—4033 AN oy B M8X20(8T) 4 5

10 | S926—1206 INT S M8 4 5

11 | S071—5110 7 a7 b 1

12 | S941—1329 4T — (WA) 10X 8X55 2

13 | S071—5180 VA BT 1

14 | S902—4055 NEARAAL b M10X35(8T) 4 5

15 | S916—5206 INESRAEF v b M10 4 5

16 | S926—1208 INF S M10 4 5

17 | S071—5130 hI— (Furr—y) 1

18 | S071—5160 Tug s —Y 1

19 | S831—5645 VAL b LC—45(SG—1000) 3 0.8
20 | S050—5140 g (Fur7-1) 1

21 | S902—4052L INESAFLE (BEXYD) M10LX20(8T) 1

22 | S926—1208L NS (EAXTVH) M10L 1

23 | S071—5240 FUY VT — A 1 0.8
24 | S936—2072 (6 A R—72 1

25 | S938—1736 5 N ) B 6306LLU 2

26 | S936—1030 WHACKIL £ & S—30 2

27 | S071—5220 Frvagry = (Fuv) 1

28 | S071—5230 FUY gy -1 (Fuay) 1 0.5
29 | S901—4148 ANHEEL b M16X 120(8T) 1

30 | S916—3209 NAF b (3E) M16 1

31 | S806—1202 NAUF Y b M6 2

32 | S938—1704 R—=NARFTY U 6004LLU 2

33 | S071—5250 19— (20X43.5) 1

34 | S929—1208 SERESE (IMER) M14 1

35 | S926—1211 IN TS M14 1

36 | S916—2208 NAF b M14 1

37 | S913—3218 75 v IRSRARL b 2—M8X25 2

38 | S916—6205 INESHT o b (3K M8 2 5

39 | S705—4248 2TV 1

40 | S705—3210 2Ty vy 1

41 | S071—5270 NN IEFYY gt 2 0.2
42 | S902—2033 INESF AL b M8X20 4 5

43 | S926—1206 IN I RS M8 4 5

44 | S929—2205 RS M8 4 5

45 | S071—1550 *F—HTL—F7 -4 1

46 | S828—1210 Tova Sy o2 X80N) 15X17X20 1

47 | S929—1208 YRS (NER) M14 2

48 | S936—1015 WRACKH L A5 S—15 1

49 | S069—1510 A—HTL—F 54— 1

50 | S901—4016 NEEL b M6X16(8T) 2 5

2000.

23




712 707 -7A757>oa3 %




Ja7-Ja7r7r a3 8 712

HHNo.| B R &5 &R ST £ ® i H g |RHA| EETE
51 | S926—1204 IS S M6 2 5
52 | S071—5280 A2 1 0.1
53 | S902—4034 NESNFAARN b M8X25(8T) 2 5
54 | S926—1206 IS S M8 2 5
55 | S929—2205 SRS M8 2 5
56 | S705—3251 ALYy 1
57 | S028—0550 IV RFL—b (Fuw) 1
58 | S936—2042 TCHCIE L A R—42 1
59 | S901—4021 NAFIL b M6X40(8T) 1 5
60 | S916—2204 NAT Y b M6 3 5
2000. 1

25



712 21— %

2000 1

26

'b*t 12-35HST




~

a—bMEE 712
RHENo.| & & & 5 wOm 2 K 14 g | RrEBT | HENE T8
1 | S071—6911 ¥ oa - MR 1 0.3
2 | S071—6920 235 v (¥ a— FEYTE) 3
3 | S902—4033 INEFSHA L b M8 X 20(8T) 6 5
4 | S926—1206 IN TS M8 6 5
5 | S071—6930 V- FEUAEZ 1
6 | S071—7010 va— b 1 1.0
7 | S902—4032 INEAHERL b M8X16(8T) 5 5
8 | S929—2205 RS MS8 5 5
9 | S926—1206 IN S M8 5 5
10 | S071—7040 Va—bFywTTAL 2
11 | S071—7020 Va—bFyu T () 1
12 | S916—5205 INERAET o b M8 4 5
13 | S926—1206 INF S M8 4 5
14 | S071—7030 Ya—bFyv7 (L) 1
15 | S071—7060 Va—bYuy 2
16 | S839—0010 FUFUEL R M10X60 2
17 | S916—5206 NS o b M10 2 5
18 | S071—7050 Ya— M) YO AXR—H 2
19 | S929—2206 R4 M10 4 5
20 | S930—0219 gy 2.5X20 4 10
21 | S071—7090 Oy Fdyy 7 1
22 | S901—4020 NHEEL b M6X35(8T) 1 5
23 | S806—1202 U+ v b M6 1
24 | S824—1212 SRRV 6X30 1
25 | S930—0208 L 2X16 2 10
26 | S824—1214 FE g 6X40 1
27 | S071—7100 Va—hEYH hIN— 1
28 | S901—2015 NAEL b M6X 12 2 5
29 | S926—1204 AP 875 Mé6 2 5
30 | S071—7071 t—TF 4 H—F 1 0.1
31 | S822—3412 #o (MR M8 2
32 | S901—4033 ANAEL b MB8X20(8T) 2 5
33 | S953—1201 TN A=y T A—M6F 3
34 | S870—2111 Boksf £ 6H 2 5
35 | S902—2032 INEFS AL b M8X16 1 10
36 | S901—2016 SNAENL b M6X16 2 5
37 | S916—2204 NAF v b M6 2 5
38 | S926—1204 IN RS M6 2 5
39 | S071—6951 v 2 — bEEEIE — 2 BT S 1 0.4
40 | S902—4033 INES RN b M8X20(8T) 4 5
41 | S926—1206 IN IS M8 4 5
42 | S071—6970 ¥ o2 — MEEME — & Ehisz 1 0.4
43 | S902—4034 INESFE L b M8 X 25(8T) 3 5
44 | S902—4032 INBASHIARIL B M8X16(8T) 1 5
45 | S926—1206 IS RS M8 8 5
46 | S929—2205 e M8 3 5
47 | S902—2032 INEASAEAEN b M8X16 4
48 | S071—6960 VRN L 1
49 | S933—1123 FEATE Y 4X20 1
50 | S951—1022 oy P22 1
2000. 1

27



712 a2 — b8

2000 1

v*t 12-35HST

28



Ya— & 712

RitNo.| & & & 5 OB % K 1% 2 B |RIEHAL | A T3

51 | S941—1214 i — (B TXTX22 1

52 | S908—1226 FZRFF R () MY M5X 16 3 5

53 | S926—1203 INF S M5 3 5

54 | S929—2203 e M5 3 5

55 | S938—1704 RA—ARTY VY 6004LLU 2

56 | S009—0450 AR —H 1

57 | S936—2042 TCHCKAL A dig R—42 1

58 | S071—6980 v a2 — b EEEIE Y 1

59 | S016—9510 B 1

60 | S071—6990 H8— (¥ 2 — bhER) 1 0.1

2000. 1

29



712 EBI=ES (ET - AE)

.b,.t 12-35HST

30

2000. 1



By HixZES (EfT - ME) 712
RtiNo.| 3 & & B M om & B L % | RiTHL | EUET
1 | S071—3600 ETFIvvav 1 5.0
2 | S071—3610 HST (BDU—10L—0403) 1 1.2
3 | S941—1109 Firs— (Wik) 5X5X28 1
4 | S071—3910 V7—Y (#EfF3Ivyav) 123B—1 1 0.8
5 | S910—4110 ANERNILERY (K 3I%) M6X12 2
6 | S065—3920 7L — (HST) 1
7 | S901—4018 NARL b M6X25(8T) 4 5
8 | S926—1204 IN S Mé 5 5
9 | S901—4016 ANEEL b M6X16(8T) 1 5
10 | S831—3331 VAL b LB—31 1 0.6
11 | S065—3470 UEL b 2
12 | S926—1209 IS S M12 4 5
13 | S916—5207 INESAF Y b M12 4 5
14 | S902—4050 NS b M8 X 130(8T) 1
15 | S926—1206 IN IS M8 1 5
16 | S916—5205 INESRAT b M8 1 5
17 | S071—3980 VAT s 1 15
18 | S902—4035 INESAEL b M8 30(8T) 4 5
19 | S926—1206 INF S Ms8 4 5
20 | S071—3970 R VE L 1
21 | S938—1725 R=ARTY VY 6205LLU 2
22 | S941—1318 Efrd— (WiA) 7X7X35 1
23 | S941—1319 Fird— (WiA) 7X7X40 1
24 | S071—3990 ZAN—H (Hy v 2 1
25 | S071—3110 V7= (4%~ 8 AH) 123B—1X102A—1 1
26 | S009—0480 W4 2
27 | S926—1208 NS M10 1 5
28 | S902—4052 INESAEA L b M10X20(8T) 1 5
29 | S926—1208L INIESE (EAVH) MI10L 1
30 | S902—4052L INESRAELE (E3D) M10LX20(8T) 1
31 | S831—3336 VAUL b LB—36 1 0.8
32 | S071—3960 V77— (n2v2H71) 123B—1 1
33 | S831—1339 VAL b LA—39 1 0.4
34 | S071—3160 254 F&H 1
35 | S902—8045 INESAELE (23D) M8X 80(8T) 1
36 | S929—2205 S M8 1 5
37 | S916—5205 INESRAF o b M8 1 5
38 | S071—3510 FriavT—5u OS9r—39) 1 0.5
39 | S715—1101 FryagyIT—Y 1
40 | S936—1015 HAHCKE L £ & S—15 1
41 | S930—0239 By 4X25 2 10
42 | S929—2209 SEPE 4 M16 2 5
43 | S071—3520 FviavT—546 (ET) 1 0.5
44 | S715—2552 FrygyIT—= 1
45 | S938—1762 R=AXTY VT 6202LLU 1
46 | S936—2035 FRACK L A & R—35 1
47 | S936—1015 HWRACHIE A & S—15 1
48 | S705—3218 2Ty v 2
49 | S065—3550 7y FM8X80 2
50 | S916—5205 INESFET b M8 4 5
2000. 1

31



712 $H=ESR (ET - HBE)

1”‘t | 12-35HST

32

2000. 1



— 7 -~
B EES (EfT - #E) 712
BHNo.| & & & 8 Y i % ¥ 14 wH B8 | RiEHN | TR

51 | S$929—2205 SRS M8 2 5

52 | S071—3620 FANB VY 1 0.5
53 | S612—9470 7 5 v 7T RGHEE 1

54 | S952—1202 W fgER 75 & PT1/4 1

55 | S812—1008 I Py BRI WF8 1

56 | S908—4248 +ZIRfE N4 R (FFR) hRY | MBX12 1

57 | S902—2032 INESA R b M8X 16 4 5

58 | S926—1206 INF S M8 4 5

59 | S853—3228 BiXT v vy (BF) 7/8—14UNFXPT3/8 1

60 | S859—2426 F—Aa%H A PT3/8X12 2

61 | S853—3221 H5HxT vy (BIE) 7/16—20UNFXPT1/4 1

62 | S836—2020 F— 2NV F 16—25 4

63 | S851—4106 FTHETE (45 TE - FZAXAZ) | PTXPFA Ay — b 1/4] 1

64 | S852—9240—1 | WK — R (6X400L) PF1/4A Ay —ba=AtYv] 1

65 | S851—3106 FTHETE (90" TIE - XA AXAR) | PTXPFAAY -+ 1/4] 1

66 | S856—6222 Ty vy 3/4X1/4 1

67 | S856—6204 Ty vy 3/4X3/8 1

68 | S071—3700 FANT 4 AA 1

69 | S071—3700—2 | #—bVY 9P 1 0.2
70 | S902—4052 NESAF L b M10X20(8T) 2 5

71 | S926—1208 INFI S M10 2 5

72 | S071—7950—7 | {KHERTHIE~X (HSTFLY—%2 %) 1

73 | S071—7950—8 | {KEffHhtE—~ZX (20 —=T7 4 L &) 1

2000. 1

33



712 HIEER

*”.t | 12-35HST 2000 1

34




MESR 712

RiliNo.| & & & 5 wmooo®m % 1% L4 B | REut | ST
1 | S058—2510 WE Sy r—o 1 1.2
2 | S941—1380 Eird - (W) 5X5X18 1
3 | S071—6120 V7= Uty s —32) 1 0.4
4 | S016—8770 % 1
5 | S926—1208 IN IS M10 1 5
6 | S902—2051 AN 7ay::F M10X 16 1 5
7 | S926—1206 IS RS M8 4 5
8 | S902—2033 INEASA R b M8 20 4 5
9 | S071—7881 BRI T 1 1.5

10 | S902—4043 INEAR AL b M8X70(8T) 2

11 | S926—1206 IN S M8 2 5

12 | S929—2205 SERES M8 2 5

13 | S071—8530 WES Y V& (7% M5 1 0.5
14 | S071—8540 WELY V& (F2—7) 1

15 | S071—8550 vy Ay K 1

16 | S819—8022 vx 7)) v (SPGAS Y+ H) | 50X45X8 1

17 | S819—5150 1507 S VPRI HSD50 1

18 | S071—8560 0y FAsN— 1

19 | S951—4044 oy vz 1B—P44 1

20 | S818—1130 AZ Py —N SDR30(LBH30) 1

21 | S819—1130 1= IV AR SKY30 1

22 | S071—8580 FAY—21) 97 (54H) 1

23 | S071—8600 Higy ) v ABUFY Y (1) 1 0.1
24 | S071—8590 HAbgv ) v 8BS Y (F) 1 0.1
25 | S929—2209 SRS M16 4 5

26 | S930—0241 vy 4X32 4 10

27 | S071—8710 WEYyE (v=9y v ) M 1 0.4
28 | S071—8720 VYU FL—T (a—=1) ) 1

29 | S071—8730 vyvEay K (a=y ) 1

30 | S060—2680 REY—2Y 97 (45) 1

31 | S819—8017 yx 7Y vy (URDSy £V H) 40X 36X 10 1

32 | S819—5140 2 S VA RIE B HSD40 1

33 | S951—4034 oy v 1B—P34 1

34 | S901—4140 ANAEEL b M16X70(8T) 1

35 | S916—2209 ANAF b M1i6 1 5

36 | S926—1212 INF S M16 1 5

37 | S916—6209 INEFSF b (3FE) M16 1 5

38 | S058—2510—3 | il 1

39 | S071—6150 FALEHO (40 2) 1

40 | S902—2033 /NEFSHAR L b M8X 20 1 5

41 | S926—1206 IN IS M8 1 5

42 | S916—5205 N 72y Al M8 1 5

43 | S071—7950—6 | KT+t — 2 (FW—-4% > 2) 1

44 | S071—7950—5 | {EEmMMHA—R Sy r—y—=4222) 1

45 | S836—2035 ey ORI 25—40 4

46 | S859—1239 F—23XH 4 PT1/2X19 1

47 | S856—1305 B4 2 AZTLE PF1/2XPT1/2 1

48 | S819—7541 Wy 2T oIy vy TCS—50%X 40 2

49 | S951—1018 oy v P18 1

50 | S856—1202 Z MY — P R 1/4 1

2000. 1

35



712  HEEB

1”.t 12-35HST 2000 1

36




MESR 712

RiiNo.| & & & 5 ®m & % b7 # H % | REEN | EE T

51 | S851—1106 THESHE (AP —FAZX-FR) | PIXPFAZY—b1/4| 4

52 | S851—3106 THETHE (90° T E - FAXAR) | PIXPFA AV -+ 1/4]| 1

53 | S852—9280—1 | VS — A (6X800L) PRI/4A Ay — b=ty | 2

54 | S851—3506 TETHE (90" TIK - ZAXF Z) | ROV /)XPFAAY- /4| 3

55 | S860—1202 A A A XTI AER PF1/4XPT1/4 1

56 | S853—3203 Ty vy (A APFX X APT) PFI/4XPT1/4(0Y v 7'ft) 2

57 | S851—3106 FTETE (90" LA A ZAXAR) | PTXPFAZY— b 1/4 1

58 | S851—3106 TAETA (90" TNE - A AXAR) | PIXPFA AV -} 1/4 1

59 | S852—9296—1 | WEH— R (6X960L) PRI/4x AV —bar=tyv| 1

60 | S852—9291—1 | WHE+F—Z (6X910L) PRIAAAY— b=ty | 1

61 | S852—9258—1 | WHIFEA— 2 (6X580L) PRI/AA Ay — b=ty | 1

62 | S852—9252—1 | WHEHR— 2 (6X520L) PRI/AX XY= b=tV 1

63 | S071—8760 VAPE LS 1 0.1
64 | S902—2032 INESHIER L b M8X16 1 5

65 | S926—1206 A Y M8 1 5

66 | S870—2525 A—F 4oy 25 1

67 | S870—3207 ZISA FINF 2 —T 12 1

68 | S901—2016 ANAERL b M6X16 1 5

69 | S926—1204 IN IS M6 1 5

70 | S916—2204 ANHAT Y b M6 1 5

2000. 1

37



712 H/IN—5B

v’.t 12-35HST 2000 1



HN—8 712

RiNo.| & &2 & 5 OB % K ] i (B | BB | e T8
1 | S071—8110 I S 1 0.6
2 | S061—8130 H(F 1 0.1
3 | S061—8500 R 1
4 | S901—2016 NARL b M6X16 2 5
5 | S926—1204 IN IS M6 2 5
6 | S056—2540 VA A 2
7 | S908—1236 FRAF R ) Y M6X12 2 5
8 | S926—1204 IN S M6 4 5
9 | S916—2204 ANAT b M6 4 5

10 | S712—1101 = VAN 2 0.1
11 | S071—8100 kA= 1 25
12 | S071—8120 AV X9 bF Uy g - 1

13 | S929—2205 SEHES: M8 1 5

14 | S930—0208 (R 2X16 1 10

15 | S071—8291 HAN—=T L —24 () 1 0.7
16 | S071—8341 HIN—=T L —24b (F) 1 0.7
17 | S071—8320L 27 —Hft&HA (i) 1

18 | S071—8320R 27 —-Bfy&RE (H) 1

19 | S071—8330L 27 —HftER% (k) 1

20 | S071—8330R 27 —-Hft&R#% (H) 1

21 | S902—4033 NS AR b M8X20(8T) 36 5

22 | S926—1206 SIS M8 48 5

23 | S916—5205 AN 7oy : Al M8 20 5

24 | S071—8280L IR A7 — (k) 1 0.3
25 | S071—8280R Rz 57— (5) 1 0.3
26 | S902—4032 INEFSAE AL b M8X16(8T) 6 5

27 | S834—0012 Z'u Ry b 6—12—2.0 4

28 | S071—8160 7L — AEESE 1

29 | S071—8420 A=A FARS 1 0.4
30 | S902—2032 INEEFS AR IL b M8X16 4 5

31 | S071—8430 TLUFVTALEIY A 1

32 | S071—8440 A=A PARSE | ]

33 | S901—2015 AEEL b M6X 12 2 5

34 | S926—1204 IN TS M6 2 5

35 | S902—2036 INERAERL b M8X35 2 5

36 | S071—8231 Bt A 75— () 1 0.3
37 | S071—8241 AR 5 23— () 1 0.3
38 | S071—8270 B 55— () 2 0.1
39 | S929—4203 Y-iEE (KHE) M5 16 5

40 | S926—1203 IN TS M5 16 5

41 | S916—2203 NAF Y b M5 16 5

42 | S822—3535 B (2 TELL) KR—B3—M8X30 4 0.1
43 | S929—2205 SEHE S M8 4 5

44 | S927—3106 1A L—8 8 5

45 | S069—8811 THH 1

46 | S908—1226 R R= VA b N & AR I M5X16 3 5

47 | S926—1203 INIEES M5 3 5

48 | S929—2203 SR M5 1 5

49 | S901—2016 ANEAEL b M6X16 2 5

50 | S072—8300 I v F 4

2000. 1

39



712 FEITES

2000 1

40

b’t 12-35HST



ETE 712

RitNo.| & & & 5 ®O8 & K 1% i Eg | RbHf | T

1 | S071—1100 FfF7L— 4 1
2 | S071—1200L ru—-35vy gy (k) 1 1.0
3 | S071—1200R rua—35vv gy (H) 1 1.0
4 | S901—8901 NARLE (&EXY) M16X150(8T) 2
5 | S916—2209 NAT Y b M16 2 5
6 | S030—0160 74K 2 0.7
7 | S252—0350 g (dninf) 20
8 | S938—1724 i N ) B4 6204LLU 4
9 | S929—2209 SR M16 2 5

10 | S918—4209 INEERSSAT o b (TEIEE) M16(1L) 2 5

11 | S930—0241 gy 4X32 2 10

12 | S071—1230 L7 8 0.7

13 | S938—1724 R—AxR7Y VT 6204LLU 16

14 | S929—2209 SRS M16 8 5

15 | S918—4209 INEER AT b (IR M16(1L) 8 5

16 | S930—0241 - 4X32 8 10

17 | S071—1210 TH AN — A5 2 1.8

18 | S902—4055 NS FERL b M10X35(8T) 6 5

19 | S916—5206 INEASHT b M10 6 5

20 | S926—1208 IN IS M10 6 5

21 | S953—1201 TN A=y TR A—MS6F 2

22 | S065—1220 FFA Ty 9 b 2 0.6

23 | S061—2210 W4 2

24 | S926—1212 AP M16 2 5

25 | S918—4209 INEER S AT o b (IR M16(1L) 2 5

26 | S930—0241 1= 4X32 2 10

27 | S071—1300 ThoU—F 2 0.5

2000. 1

41



() % T
®— oo = ‘B B M 80—§

b’t 12-35HST 2000 1

42




THEE 712

RitiNo.| & & & 5 ®woo®m & K 1 o % |REEN | ERTEK
1 | S071—2510 Ny TFUE 1 0.4
2 | S902—4032 INESAFRIL b M8X16(8T) 4 5
3 | S926—1206 IN TS M8 4 5
4 | S065—2540 2Ny F ) v —k 1
5 | S753—1006 Ny T 55B24L(NX100—S6L) 1
6 | S071—7580 S =3I (=) 1
7 | S071—7550 g —3IF g (4) 1
8 | S753—8301 Ny F)E—3IF0 (+)/NE =L (DTS—1B) 1
9 | S753—8401 Ny F)a—3IF (=)hE — L (DTS—2B) 1

10 | S050—2531 Ny FUEzay K 2

11 | S050—2522 AT E: P 1

12 | S926—1204 IN KRS M6 2 5

13 | S920—2204 ey b M6 2 5

14 | S061—9462 ¥—7F 4 XA v F 2 0.4
15 | S061—9463—3 | BidR (E172 7 v F) 1

16 | S071—9460—4 | BifR (A —H X A4 v F) 1

17 | S071—9200 24 9 FTI0 9 b GEFF, & —#) 2

18 | S908—1217 +ZaRAFF R () Y M4 X 25 4 5

19 | S929—2202 RS M4 4 5

20 | S901—2016 ANAEL b M6X16 6 5

21 | S926—1204 IN RS M6 6 5

22 | S929—2204 SERES M6 4 5

23 | S751—1001 253y b AL v F 1 0.1
24 | HERSR Jv— (Fu—732) 4 A XEHE8942481610 | 1 0.1
25 | FEMSH a4 (ra—-737) 4 2 X5 %&8970405010 | 1 0.1
26 | S071—7920 YL —FKy 2 A (9P) 1 0.1
27 | S071—7910 Yb—=FRysZx (1IP) Ya—tavbu-i 1 0.1
28 | S901—2016 NAAIL b M6X16 6 5

29 | S926—1204 IN S M6 11 5

30 | S901—2017 AR b M6X 20 5 5

31 | S929—2204 SERES M6 5 5

32 | S071—7410 La—XHEyr R 1

33 | S071—7410—8 | ZF v H (k2—X) 1

34 | S757—3008 ta—X (FL—FH) 7.5A 4

35 | S757—3010 Ea—X (FL—FEY) 10A 5

36 | S757—3015 ta—X (FL—F#) 15A 2

37 | S757—3020 ta—X (7L — KAl 20A 3

38 | S071—7690 Va—bEUHZ49F (NO) 1

39 | S069—2310—4 | A4 —& X4 9 F 1 0.5
40 | S069—2310—4A| F— A4 v F HIN— 1

41 | S752—1004—2 | TV VAL v F HIS— 1

42 | S069—7500—2 | BBEIEA L v F 1 0.1
43 | S760—1005 Ik A12V3W(T10) 1

44 | S754—1108 BlkRE -7 5714 24 9 F Fr o TEETON| 1 0.1
45 | S071—7360 AV R—T g VA4 1 0.4
46 | S071—7360—14 | * —#HUTEH (1) 1

47 | S071—7360—15] * —#2HUTE&E (2) 1

48 | S071—7360—13 | +FIR A tHx v 2V 4

49 | S760—1004 Bk A12V1.7W(T10) 7

50 | S071—7970 A —HTL—FE—4 1 0.4

2000. 1

43



712 BES

1 64
6a 0 61 ol —g @%/63
S —100 62 e @@ 0§

lh,-t 12-35HST 2000 1

44



BRE 712

RiiNo.| # % & % wO% & &K 14 L1 ¥ [Run | B T

51 | S757—1005 ta—X (HEHH) 5A 1
52 | S071—7350 FE ZAE .5 1
53 | S913—3607 75V OAAEAL L (B 2—M6X12(7T) 8 5
54 | S050—7861 HUALIN—RA o F 2 0.2
55 | S071—7870 gz 4 o+ 1 0.1
56 | S050—7431 F4 AL yF 1 0.2
57 | S071—7840 Ay ba—nEKy ¥R 1 0.2
58 | S050—7852 fE# & v ¥ 1 0.3
59 | S071—7821 fE#E e~ S EHS 1
60 | S901—2019 ANHEFIL b M6 X 30 2 5
61 | S926—1204 IN IS M6 5 5
62 | S916—2204 STy b M6 5 5
63 | S902—2032 NS AR b M8X 16 4 5
64 | S926—1206 IN IS M8 4 5
65 | S920—2205 S M8 2 5
66 | S071—7930 v 2 — MEME -4 1 0.5
67 | SO71—7960 BE) Y VA 1 0.2
68 | S059—8650 40 (Ya2—+H) 1 0.2
69 | S760—1021 o £55 A12V21W (S25) 1
70 | SO71—7590—3 | 7— A% (V2 —FF4}) 1
71 | S050—7420 34 b 2 0.2
72 1S050—7420—~1| 94 bL v X (OSyF U4 2
73 | S760—1022 2 £35 A12V35W (S25) 2
74 | S069—7440R 54 b ZF— (H) 1
75 | S069—7440L 4 P2AF— (fF) 1
76 | S902—2032 INESAERL b M8X 16 2 5
77 | S926—1206 INFPRESE M8 6 5
78 | S069—7450 T4 b AT —HHER 2
79 | S902—2033 INEFS AL b M8X 20 4 5
80 | S916—5205 INESRAET o b M8 4 5
81 | S834—0013 raiy b 9—12—15 2
82 | SO71—7590—2 | 7 —Z# (514 +EH) 2
83 | S069—7650 INFINF 4 b 1 0.2
84 | S760—1014 EIk A12V10W(G18) 1
85 | S069—7650—12| SFARIL b 2
86 | S069—7650—11| ~FAF v b 2
87 | S069—7650—10| /N A4 2
88 | S071—7511 AN — 3 ZA (X4 V) 1 1.2
89 | S071—7520 BN — 3 AB (k=77 4 24 v F) 1 0.2
90 | S071—7540 BN -2 AC (Va—baybuo-n249F) 1 0.1
91 | S071—7630 B N— 32 AD (v 2— b EF) 1 0.2
92 | S071—7670 Bl n— 3 ZE (OSIL7a v bua—i) 1 0.1
93 | S069—7560 o=V TN 1 0.1
94 | SO071—7660 ST A b R 1 0.1
95 | S071—7590—1 | 7 — A%k (BB —) 1 0.1
96 | S071—7850A fEF v R — 3 1 0.1
97 | S870—2112 BORRA 2 8
98 | S870—2111 Bk 2 6
99 | S901—2015 v B M6X12 3 5

100 | S916—5205 INERAT b M8 2 5

2000. 1

45



712 A7 HEB

t*t 12-35HST 2000 1




A7y hEs 712

RiNo.l & & & & I - R | RO | TR
$9999—7110 ATy B
1 | S071—8130L 25y h (B - £485) 12—35HST (k) 1
2 | S071—8130R ATy (RIR - &FF) 12—35HST () 1
3 | E000043 5 )L (RhiEmAE) 1
4 | E000041 ESA) (77 FER) 1
5 | E000042 B~ (HEH Z2FER) 1
6 | S9999—0006 EHINNL (REDZDHID) 1
7 | S9999—0007 BE L (BRH/S—K) 3
8 | S9999—0009 EHINL (F—Hfake~—2) 1
9 | S9999—0010 LS5~ (Tuyfghe—-2) 1
10 | S9999—0018 ESNL (FVT—-4TE) 1
11 | S067—9550 AF9H (E—=TF42F9F30) 1
12 | S065—9740 27 wh (Rv—2) 4
13 | S071—9731 2T A (BLE#R) 1
14 | S050—8140 27 v % (YANASE) 1
15 | S9999—0033—2| 2 F v} (BXMOIEX) 1
16 | S071—9781 2T A (VXRILB) 1
17 2T v H (Brg/ s 0n) 1
18 2T w1 (HfE/SRN) 1
2000. 1

47



EV
=
m)
[ =1
(QV|
>~
N~

Y-ALy—k ﬁ WlE-1L M £y £)Y £ by £ )Y
T =L M A —Af§—3A4-T7
I / ’
%24 ¥ |x |8« |63 wog 3 HeL s
[+3] & 7 v 3 7 i - (8% ) oo oo ] "m _ ,
ARNEIRIDERE = goig-gy TSR |
= l17¢:"79" | ]
T — B 9N w.__pm =[‘BRIE <
| ' | - Q
bsga 081 ) AR WLY H 1 3 TW@W W zain) 000 m = =
N A/ i L=- 2 e — I (3]
= 3= ] wogz i e . ”@ .
- E ME,ma HERERS L T *UW B AT
Sle | — S8880 00 - _ I !
E oo 0D 00 g ) i -
= “ 5 = [~ o ] — ijhﬁ. o 4Tv-
] [++ ]
h “ r@w - )u > o |o |I.vﬂ.|@
¥ 1950 - o o @ o pLy-Tr
j = o i e @ 2 |5 T
o Mmoe = | o @ @ o ,
1 1E3 = W Bl = MY F'H.AI.I\J o
=i WS o h T 1 —\MUN-T
]
BT @ =] N 1
H I & v !
mm_ 5| 1 o 5 : !
: il
4 RE -5k = z ¥)|
M H_N T T ! |
o > = hg !
4 o
£7 P Y~\NYOLd-Ts
Li, iLlLy N 24l oo 7-xe wogl =t T .
Qo) DOLSOLLL o gyy i 7-k20s mH_m =in Wi
* ; H_ B/ = 07 77 |
i 03 W’ - 5 FI0ILl-F )
| coye o3; AR ] L0 VY —§-77T
& =1 E] -
‘ BigdX 1] 1T-t7
! w [ER BE -7 | ME0 EAV b
- p—— AHS 0 FEET | W0 TFO- o1 o-olS
ﬁ :w% OHG0 £—¥T& §~x0d ] A e ¢ ¢°N
L QME B T T 18@yiun 30
2 8y 8d ~0¢ BWOSAY. g
TPTITITT =771 =
T 0 retkels i TR0 ZAY J_U_
sracs w0 %0 | £e4Y-T3 oo L @._
== £ pEAre
BE50 iu’l‘--]i._
T ]
= W2 ‘
0 13 |
T BEE §-rLd !
Lef-og ABOS AHG 0 !
o<
£ Y Y OgE— w0 4
ek AR M v
p HMOS e I
-1-04 q !
£/ VY B4 m_uqll pLaress [P MM g Bl v
L B2 ] H — = Hred
= = N
= 4 A _ L
AL AR #ue &) g 53 _
o mEso X i
E wg !
i |
W50 ras "
paghve:i: 1 .ﬂJ HMS 0 |
] 50 |
Wk T A5 0 lrE !
WA O X |
8550 .y _
NS0 !

§—x 8/ garC

2000 1

48

"”-t 12-35HST



TI2
Engine Parts

Type 3LD1
Top

ANy RBIN—ER ceevrrereneniiiiiniiieiiniie.. 50~51
Cylinder Head Cover
sS4 JAay AJHR eerenneneerantatettiiiiiieiiiiinn, 52~53
Cylinder Block
BAILTERH = ZER oo 54~57
Timing Gear Case
A JUINI TR eeeeeneeeti et 58~59
Oil Pan
7_|—,r)|,;_|—\‘"/7°xét|§ ............................................. 60~61
Oil Pump

EXL 72747 F&TFZAKRAIER ---62~63
Piston, Crankshaft & Flywheel

INJVT A B T T LVER cveeereeeeneneaneinneeiiiiiieniin., 64~65
Valve Mechanism

@#_g;j—g’ngg .......................................... 66~67
Water Pump

I7{>7_'—7&I:‘F‘/“—Z hgg ..................... 68~69
Air Intake & Exhaust

177U_j—g5 ............................................. 70~71
Air Cleaner

T2 —TIVINA TER -coveeeereneeneenaninniiiiiiiii.. 72~73
Fuel Pipe

1291923 KT HLy 7 P&TA RVEYE ---74~75
Injection Pump, Camshaft & Idle Gear

'%‘%'»_EEB ......................................................... 76 ~77
Electrical Equipment
%*47»{)[/?&3‘71—&%[3 ........................... 78~79

Fuel Filter & Radiator

49

2000. 1



712 D) 2ENy RAN—F

.‘,,.t 12-35HST 2000 1

50



SUZENy RAN—F 712

W E s

s & B WK

14

=

=
2

RIEHA

BT

897163—4010
897085—3900
897085—3890
028080—8160
109600—0112
109600—0051
511119—0090
897031—7490
897045—3911
897045—3920
897061 —0221
897094 —6410
897106—5490
897045—4171
904110—8400
509300—0650
894110—5591
509605—0050
897045—3931
894463 —7840
897036—9591
897182—3950
894329—5490
993490—4350
894133 —2075
894123 —6231
897071—6991
028080—6200
8970853470

Y LNy FAssy
Yo A

A VAW i)
NAFIL b
VAR IV A IR
=Y v rhy S

T

LT HAF

L VH—= b2 T Y — b (RED)
A V¥ =0T — b HERED
sy bT3S

A4y F

sa—7s 4

azxoa

28y K

ARy R

ST — )L

v—a 755

HAr -y b

SNAFL b

NARL B

Y EANy F AN Assy
Ny F L — I3 T Assy
A2 4

A A NF v v T Assy
/g‘y-:\:‘/

FARE: SV

ANARIL b

IND DV T Assy

D=22
D=445

= (D b b ke B = 00 R DD D DD G0 UT WO O O D R et i DD

1.5

0.2

1.5

0.2

0.2

51

2000. 1



712 >y>470y 788

!.h—*t‘ 12-35HST

52

2000 1



vy goy 78 712

L No.

HwmE s

w o om % &K

14

=

=
i

BB

R TH

—
3]

(P

QW = DN = O 0~ U1 WD

13—1
14
15
17
18
19
19
20
21
22
23
24
26
27
28
29
30
31
32
34
36
37
37
38
44
45
47
52
53
54
65
66
75
76
77
78

897164—2020
894167—4711
894229—8530
109600—0112
509600—0130
509600—0130
109600—0121
897047—0560
897047—1421
909664 —0010
109605—0040
897134—5180
1096050040
109605—0190
897106—2041
182410—0082
091150—2060
028080—6140
894343 —8960
904110—6160
904110—6160
894325—5950
894456—7411
897039—4953
908160—8160
908160—6160
894126 —8220
909572—0140
894200—8190
911229—0581
908160—6160
109305—0050
897070—1303
904110—8400
904110—8600
9041108500
894405—0650
897044 —7862
509625—0940
028080—6200
511179—0520
897083—5911
509707—0051
897122—2851
028181—0200
028181—0120
109701—1381
509707 —0041
002709—6000

V) ET Iy U Assy
SNAKRIL b
= v shyS
=V Hy T

D IV A R A
Y=Y vyHhy 7 (Hi)
V=N sh ey
Z—FARFY T
AFGAMHLT I
Yx— XL TIY
FANT S5

L Taxsa
FANTZ
FANT S

ING DT HIN—
FANTVy Y X4 9 F
NHAT v b
NHAEIL b

A&y K

A&y K

A4y K

24y F
AANT 4 NA

VIV <
NG D VTE Y
U2 (i ol =
AAA—-AE /Y

VA A AR
YYUEANy FETILL
ATy L

vy

A&y N

VL /A4 FAssy
24w F

XAy K

A&y F
FANLARAY -
)7 —F

AN —N
AHRL b

- |

H— 2

A wi

VAV d s INE Ay 8 VIS
SR b
SNARIL b

2 w7

AR

F—2

D=35
D=22
D=12
D=32
PT1/4
PT1/8

PT1/8

PT1/4

L1=19

L1=125

M14

L1=40
L1=60
L1=50
L=103

O e WO e R e e O e e R e O QO DD DD e DO DD B B ke ke B DD b e bbb b b b bk b e b P = OO

0.4

53

2000. 1



712 2131 7%Y 55—

t*t 12-35HST 2000 1

54




24

117

LIEY -8 712

B8 E S

Boo& B K

14

E:d

fE%

RIEEL

B TH

897045—6175
897147—4890
908160—8500
897034—5945
897034—6382
908213--6250
909185—4040
897093—5491
897034—6374
897034—6422
897136—1840
894130—4380
897069—8901
897148—5480
908160—5450
109605—0500
897112—2650
109747—0020
897148—5500
897034 —6432
897083 —7140
897106—2071
109747—0020
897016—9400
894369—5450
897038—8021
894454—6150
897049—3280
109623 —0550
509503 —1350
909110—5080
908160—4360
909150—5080
894317—6381
909111—4060
897039—5841
909110—4060
515729—2391
897016—4410
909160—5040
909160—7040
909185—4030
509503—1320
509400—0480
909111—4060
515669—0021
897082—1140
897016—4460
897039—5461
897016—4492
109623 —0550
509503—1350
909110—5080
9091505080
115739—0020

754 94 b Assy

R ) — 7 Assy

Yy 7 b

#A4 FLsy—Assy

b A A |
VAV S Al
AFy TN T
HINFLIS—F o b
HISFF gy bv—
XAV RTY T L IS—-
TYIIFy b
HFNUEF o b

AL RATY T
Z0—5 4 I LI3—-Assy
TO—F 4 b= ¥ T b
i 24

¥—

2Ty PV
DIV 2w B VECE

AR —FrATY Y
Yy PRATFY S

av ba—JL) v U Assy
2F T
VE—VAT) vy
Ty YA

Ty va

DA IV IR
HoNxFay ba—LboN—
oy

273 ANy ¥
PADRY

ATY) vy

IN RS

Yy bAZY 4

F b
Jru—FEy b 22 4
>y b

AR—=bPRATY) VT4
Yy FA2Y 4

RS

g

AF TN T
}f‘y‘\;‘/
Froy T b
NAF Y b
TAFLEy bFyyT
SRV

MRE A by 7 bAssy
VA=V ATY) o
Lv—

oy s

27 ANT ¥y

+ v b

AY- N L

Yy—F¥—J

D=8 L=50

D=6 L=25

3.5K

PT1/8

L=198

bk bk ek ek e ek ek et e ek b d DD b b b et ek b ek DN DD bk bk b b b b bk b ek bk ek bk pd bk ek b bk bk bk bk ek ek ek b bk bk ek ek e e e e

55

2000. 1



712 21431 7% Y-8

'P’-t 12-35HST 2000 1

56



TX¥Yir—X8 712

5.HiNo.

G )

woo&m B K

FHETE

65
67
68
69
71
75
81
82
83
90
91
92
93
9
96
97

981325—4460
897161—7450
897064 —6881
028080—6200
897085—1331
904411—0250
028080—8800
091150—2080
5096250790
897039—2644
511129—0060
909561 —2530
0280806140
897072—8300
894425—6852
894123—6231

JA4Y

Y ba—JLLIN—J /3 —Assy
Ny F v

NAKRNL b

B4 IVIEY -2
ALy F

ANAKRL b

NHET b

AN =

A
=Ny
oy s

NARIL b
ARV b

A NF %y TAssy
}Vy“""/

P e b e e ek e DN U1 DD S e e

2.5

2.6

57

2000. 1




712 F 1IN ER

(m 12-35HST

58

2000 1



FAIVINER 712

RiiNo.| H W & 5 8 i £ ® # H fE% | Rk | YT
1| 897045—3981 | A 4 JLsS Assy 1 0.8
3] 909662—0120 | 77 & 1
4| 109623—0570 |0V v % 1
8 | 028080—6140 | AAENL b 16
9| 091150—2060 | ~fF v b 2
2000. 1

59



712 A A IR TER

v*t 12-35HST 2000 1

60



AWK TE 712

I )

o m

C

f

L3

B

RERAL

BETH

897048—8093
897048—8103
897044 —8132
894235—-5671
894104—6150
8971133320
908160—6160
897109—6790
0280806300
028080—6500
028080—8300
8970454000
897045—3991
028080—8160
109623 —4960

x4 K Y T Assy
AANKY THRT 4
F A R TH T Assy

MY =TT

i/
AT v
8%

oy vz
AR b
AR b
ANAFL b
AT va

A b L —F Assy
ANHAFIL b
oy vz

ID=13.8

Pt bk b = b DD b DD ek bk b b e

2.0

0.1
0.1

61

2000. 1



712 EXBM U520 %7 &TTA1KR1ILER

00000



EXb e 95202 TM&TSAKRAIVER 712

R HNo.

BmamES

B &

Z

]

=

B
]

RO

B T

10
12
13
14
15
16
18
19
20
25
26
30
31
32
34
35
36
37

897047—0210
511599—0031
897087—1060
897141—2050
897047—0240
894216—2064
894224—2362
512251—0070
894156—0840
512211—0210
894114—0491
897122—2870
897091 —4122
894419—6020
8970232680
894133 —3281
894201—6410
897034 —5920
897078—4740
894386—0790
894134—7920

AAJLFy b
AFAPMAEIN
<798
IV A IR
a2y FAssy
AR b

+ v b

Ty va
A E .y b

[ S VA <
AF 9Ty T
BS5Y YT b
7 7 4 K4 JLAssy
VR S
|2

NAFRNL T
F¥H*—
23V w7 MEY
7=

FU b

RS

Z=108

=37
D=115

b ek e itk = Y O e = = DWW WO O W W WN

3.4
3.0

0.5
0.3

2.6
0.3

63

2000. 1



712 NIV T A HZ X LER

."’.t 12-35HST 2000 1

64



NIVTAHZZXLE 712

R HiNo.

o E s

B &

H

B

]

=

B
e

REHA

R T I

WU W

897163—4160
897070—4651
911129—0830
897039—5260
908160—5160
897116—4480
897116—4500
897010—4850
9509111—5060
897070—6982
999202—3140
909571—4140
091150—2060
028680—6160
897102—1230
8970454102
897034—6291
894251—0311
894239—5010
897124—3690
897069—5751
511179—0520

73y b
V7 b
V=T hyS
v=YvrhyS
<8V

Oy A7 —4h
Oy BT —4
TIOVXAXAADY 2
NAT oy b

Oy hATY v
T35

PARYE SV
NHET b
ANARL b

1 \&= VA, vl
PEo 7
ISVT ATy vy
INVT Y — b
ATy b HT—~
2 Xy b
Fyatdy K
AT v

[y
N OO DWW Ul =D O WL kit ekt b bk

0.8

0.8
0.8

2.0
0.9

65

2000. 1



712

V4 — 2R TE

",’-t 12-35HST

66

2000 1



T+ —2KRTE 712

RHNo.| & o &S ® & & WK ] L3 fE% |REEN | FETH
1| 897126—1890 | 7 + — &K T Assy 1 0.5
51 509605—0050 |k —& 75 PT 3/8 1
9 | 028080—8450 | /NAKRL b L=45 1
9 | 028090—8600 | AR b L=60 2
9 | 028080—8400 | NFRN b L=40 2

10 | 091150—2080 |/<FA+ v k 2
15| 894325—5131 | #—€X &y b 1
16 | 894325—9561 | /¥ F » 1
17 | 897104—7500 | #kK/ 34 7 1 0.5
19 | 028080—8200 | FsRIL b 1
19 | 028080—8400 |7<AKN b 1
20 | 109605—0500 | 77 PT 1/8 1
21 | 582450—0200 |k — FRX A4 v F 3/8101DG. Al1P 1
22 | 897038—4030 | F'— Y D=116 1
24 | 894450—7260 | 7 7 » Assy D=380 1 0.3
25| 897063—4001 | AN —+ T=45 1
25—1 | 913642—0780 | AX—¥% T=32 1
27 | 028080—8500 | <KL b 4
28 | 020800—6120 | NAEKNL b 2
30 | 897160—4370 | 7 7 ¥ X)L b L=815 1 0.1
2000. 1

67



712 I7A4>5—J&IFJ—X MR

.",_t 12-35HST 2000 1

68



I7A>T7—7&IFJ—XMEE 712

RitiNo.| M & &F 5 B @& B 7 L3 E% [RIEHG | TR
1| 897034—6140 | MR/ $4 7 1
2| 904110—6160 | 2 & v F 2
3| 091150—2060 |7NFAF v b 2
5| 897045—4031 | *F /-~ bv=2Fk—NLF 1 0.6
71 904110—8200 | A & v F 4
8| 897047—0541 | H A w b 1
10 | 091150—2080 |7FA+ v b 2
11 | 028080—8400 | NAAL b 2
11 | 028080—8700 | AN b 1
11 | 894458—4741 | NAAL b L=53 1
12| 897042—0280 | H# A ¥ v b 1
13 | 914145—0760 | H# X7 v b 2
14 | 897107—7140 | ¥ 7 7 Assy 1 0.5
15| 894402—1650 | v 7 5 B3 — 1 0.3
2000. 1

69



712 IT77VU—F5

v*t 12-35HST 2000 1

70



I77V—F8 712

71

RitiNo.| W wm & 5 g & & K ] = % | RN FHETIK
1| 894152—1120 | *7 2 U — FAssy 1 0.2
2 | 514215—0140 | =L A~ b Assy 1 0.1
14 | 897048—9720 | 2w ¥ a v 1
19 | 897048—9711 |/¥U/ F 1
2000. 1



712 T a2a—TIIVINA 758

2000 1

.‘,,_t 12-35HST

72




TJa—TILINA TE 712

5.t No.

I )

B & &

4

=

%

piaid: Ji

R L8

[$2 3~ SR

N

16
19
20
21
22
23

897079—9760
894106—0551
894257 —5920
894257—5930
894106—0403
897045—4062
509707—0051
897096—4030
897045—4081
897046—7940
894379—6880
894144—5880

/ X)L Assy
E—F—NF
HA v b
ARy b
aALr—FrI79v %
AV x2 Y g V84 TAssy
2) 97

7 2 — T %4 T Assy
7 2 —TN%4 T Assy
Ta—TXLhE—2R
A b

A7y b

YW = et = DD WWWWwWwWw

0.1

73

2000. 1



712 1291993 ReT ALY 17 R&TA FILEVE

\35
32 —]

—

~
INLET

1’,‘t 12-35HST 2000 1

74



129129723 ReT AL+ T F&TA RUVFYE 712

5 HiNo.

BwES

® & B

fié

=

=
S

RIEHAL

eI

DT W WWWWWWWwwWwr

o Qo0 QU WD NS DN DD b et b bt et et
ST AR WNONDODNOOWmUL e Whhoo,

897034—5915
897126—3560
897126—3570
897126—3580
897126 —3590
897126—3600
897126—3610
897126—3620
897126—3630
897126—3640
091150—2080
028080—8200
897062—1412
897062—0480
909878—6260
900090—6100
900090—6570
897102—2880
509400—0530
909180—1620
897129—7800
897129—7820
512535—0051
028090—8450
894241—1792
894233—6550
894238—9070
8942336570
901910—6280

AP x0Y avRY TAssy
A

AN

A

N

VAN

DA

N

A

A

NAF Y b
NAKRL b
AR
Sy ) IV
oLy 7 bV
K=AXT7Y I
F-ARFTYVH

A 020y a3y Ky TEY
NAT Y b
2FyTYy oy

T4 FAEYLY 7 b
T4 ELEY

BT —

AR b

€ 2 — TRV SAssy
saxy b

BT —

g

A2 4

T=0.2

T=0.3 (OR)
T=0.4 (OR)
T=0.5 (OR)
T=0.6 (OR)
T=0.7 (OR)
T=0.8 (OR)
T=1.0 (OR)
T=1.2 (OR)

Z=74

DO DO DO DD = DN e e ek pd ek b it pd ek ek ) O) b bt ek ek ek pd i ek e GO

1.0

6.0

74
74
2.7

0.1

75

2000. 1



712 B

v*t 12-35HST 2000 1

76



THEH 712

H.HNo.

wawmES

B om  &

{E% (RIEHG | U T8

LN U W

11
12
13
14
15
16
20
23
24
35

897048—9662
028681 —2350
909111—4080
909150—5080
091150—2120
982931—5110
897048—9700
513674—1040
028080—8200
028081—0700
091150—2100
897040—5010
894248—1610
897044—4180
182316—0070
582250—0082
897063—3010

A 4 — 4 Assy
NEEL B
NAT b

ISR S

Ny b

r — 7 L Assy

U a2t b — 4 Assy
AN

AV bV o8
NARIL b
NAT b
rsa—-F35a4~w
ra—7r5 77—
A B — B AL <y FAssy
:_3‘:.__.
ra—4vIr—4
Y-ty

QO0S—3 12V

0.4

0.5

0.1
0.1
0.5

ek ek ke ek ik ek ek bk DN e = DN

p—

77

2000. 1



712 BET74WV2&FTIT—2E

2000 1

12-35HST

78

Irt




BFE 71 W2 IT—28 712

BiNo.| B & F 5 B Om #H & ¥ L4 E% | FHL | SR T
1| 897126—4613 | 5 ¥ . — & Assy 1 2.0
5| 897131—3150 | K — 2 1 0.2
6 | 897131—3160 |k — 2 1 0.3
10 | 909915—0421 | k— /S F 2
10—1 | 509704—0313 | &k — Z/¥Y F 2
15 | 897127—5942 | 7 7 v # — K Assy 1
16 | 897127—5911 | &# v 1
17 | 897127—5921 | 75 7 v b 1
20 | 897104—1891 |BAKl7 1 b & Assy 1 0.5
22 | 897071—3480 | =L 4 ¥ b 1
23 | 894155—1830 [OY ¥ & 1
2000. 1

79



good newdays

AL LUWELUER RS

rrt

BREL
BRAetvrE
I R AR

T105-8575 R & AKX 2 #1-6-38
TEL (03) 3452 - 4311 (kxft&)

Henr ANERAKISH

IPL-712



	Return: 
	Body: 
	Engine: 
	Top: 


